E] TECNIDEA chg?.? FIXED, ARTICULATED AND ADJUSTABLE FEET (@

=
Fixed feet (base in reinforced polyamide) @ 25 - Part. PF3 and PFX3
Piedi fissi (base in poliammide rinforzata) @ 25 - Part. PF3 e PFX3
24, Washers/Rosette UNI 6592-69
&= ) oM M8 M10 M12
> ( < S mm 1,6 2 2,5
T 4 .)E ©
> , 2 Amm 17 21 24
< —_— Code/Codice ZI | CPO07636 | CP007283 | CP007284
- Code/Codice IN | CP007637 | CP007286 | CP007287
N~ Nuts/Dadi UNI 5588-65
-
od M8 M10 M12
N
)E = S mm 6,5 8 10
)
2 25 @ .| ch.mm 13 17 19
OINEa Code/Codice ZI | CP007634 | CP007269 | CP007270
Code/Codice IN | CP007635 | CP007272 | CP007273
Spindle measures in mm . . .
. X Spindle material/Materiale stelo
Misure stelo in mm
Zinc plated steel Stainless steel AISI 304 Max static load
od A H Acciaio zincato Acciaio inox AlISI 304 Carico statico max
TypelTipo Code/Codice Typel/Tipo Code/Codice (N)
40 23 PF3A CP000710 PFX3A CP000715
M8x1,25 50 33 PF3B CP000711 PFX3B CP000716 4000
40 23 PF3C CP000712 PFX3C CP000717
M10x1,5 50 33 PF3D CP000713 PFX3D CP000718 5000
M12x1,75 75 58 PF3E CP000714 PFX3E CP000719 6000
:—}E BASE MATERIAL: Reinforced polyamide black colour. I I MATERIALE BASE: Poliammide rinforzata colore nero.

Fixed feet (base in reinforced polyamide) @ 40 - Part. PF4 and PFX4
Piedi fissi (base in poliammide rinforzata) @ 40 - Part. PF4 e PFX4

od Washers/Rosette UNI 6592-69
oM M8 M10 M12

@E <‘§ S mm 1,6 2 2,5

. ¢ A mm 17 21 24
P Code/Codice ZI | CP007636 | CP007283 | CP007284
o Code/CodiceIN | CP007637 | CP007286 | CP007287

H

Nuts/Dadi UNI 5588-65
od M8 M10 M12
S mm 6,5 8 10

@ Ch.mm 13 17 19

)3l5
o
T CodelCodice ZI | CPO07634 | CP007269 | CP007270
CodelCodice IN | CP007635 | CP007272 | CP007273

Spindle measures in mm

. _ Spindle material/Materiale stelo
Misure stelo in mm

Zinc plated steel Stainless steel AISI 304 Max static load
od A H Acciaio zincato Acciaio inox AISI 304 Carico statico max
TypelTipo Code/Codice Typel/Tipo Code/Codice (N)
40 21 PF4A CP000720 PFX4A CP000725
M8x1,25 50 31 PF4B CP000721 PFX4B CP000726 4000
40 21 PF4C CP000722 PFX4C CP000727
M10x1,5 50 31 PF4D CP000723 PFX4D CP000728 5000
M12x1,75 75 56 PF4E CP000724 PFX4E CP000729 6000
EJ2 BASE MATERIAL: Reinforced polyamide black colour. MATERIALE BASE: Poliammide rinforzata colore nero.
ACCESSORIES: Anti-slip pads - code: CP007263; material: thermoplastic ACCESSORI: Antivibranti - Codice: CP007263; materiale: gomma ter-
rubber 68 Shore black colour. moplastica 68 shore colore nero.

N[t
waw.tecnideacidue.com B-13



